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Junplh mnnuwugnidwptbpp hwpduplynd Bt wjuwtwjut innjnuwnpnypny
Jupyh dbwgnpnh tjundwudp:

Zhnlyw) wyuplwikpny Jupyh ghypnud
Spudwnpnn Juplh gnudwp' 1.000.000 22 npud

dudljtwn 12 wdhu

Swpkluwt inynuwnpnyp 12%

Onpwljwt nnlnuwugnidwp = Ywplh gnidwp (dbwgnpn) x mupkljwt nnlnuwnpniyp+365

Onwljwt nmnljnuwgnidunp=1.000.000x12%-+365=328.77

Uwpnudtbph htn juuydwé gnidwpitpp juqubl (wduwljwt homjwuwpusywg dupndwt
nhypnid)

Uduwut dwpnid (Gugp gnudwp + nnnuugnidup) 88.849
Cunhwbmp nnnuwgnmuwp 66.077

Uwpmdikph hwipugnidwp 1.066.077



